op ot |5

A

(MBIZX)/ =0l - HA)

SA - BB ORI(E]) - HRAY - B Ofl kot = Hnz2
S OIFONCI It 155,865,070 150,510,329 5,354,741
= 99,561,976 98,789,038 772,938
= 2,611,645 2,582,173 29,472
J| 270,278 265,817 4,461
= 11,222,580 11,040,204 182,376
Al 40,805,351 36,447,857 4,357,494
= 1,393,240 1,385,240 8,000
LOISX BR(AMESX/ L0l - HAH) 116,733,322 115,570,769 1,162,553
= 80,085,785 79,958,328 127,457
= 2,611,645 2,582,173 29,472
J| 270,278 265,817 4,461
= 7,015,430 6,933, 158 82,272
Al 26,714,184 25,803,293 910,891
= 36,000 28,000 8,000
LOI=R & 99,590,827 99,366,976 223,851
= 79,554,483 79,547,113 7,370
s 2,559,869 2,526,761 33,108
J| 4,461 0 4,461
= 3,495,953 3,489,137 6,816
Al 13,968,061 13,795,965 172,096
= 8,000 8,000 0
ESeI =N 2,169,658 2,066,468 103, 190
201 LE23H| 37,838 35,028 2,810
01 At22teld| 28,838 26,028 2,810
OLIALZAH| ===
A 1,907,220,000 %1% 19,073 16,263 2,810
301 LEt2d= 1,907,220 1,806,840 100,380
02 ASIEEE2ES(FHLHS, NEWA) 1,907,220 1,806,840 100,380
O olAASEH| XA
ZA 7,0002%23,9002 * 122 %95% 1,907,220 1,806,840 100,380
SFHISAE2H 124,939 71,989 53,000
201 23| 72,680 69,680 3,000
01 At22teld| 3,000 0 3,000
OZFenaEAsR Hg &
3,000,000 %14l 3,000 0 3,000
306 3 50,000 0 50,000
01 &3 50,000 0 50,000
OZ=e=2aFHER 88 U2
50,000,000 %13 50,000 0 50,000
(D)oY ESEAMHIA 3,535,589 3,498,470 37,119
s 2,474,913 2,448,930 25,983
= 318,203 314,862 3,341
Al 742,473 734,678 7,795
307 212t01™ 3,535,589 3,498,470 37,119
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SA BB SR(E) - HRAY - BES Ofl kot J| & o HimE2
s 2,474,913 2,448,930 25,983
= 318,203 314,862 3,341
Al 742,473 734,678 7,795
11 AR SXAISE L 3,535,589 3,498,470 37,119
OLolgtEs==sMEIAAE XI#
AA 3,535,589,000& 3,535,589 3,498,470 37,119
s 2,474,913 2,448,930 25,983
= 318,203 314,862 3,341
Al 742,473 734,678 7,795
(D)SHLIFHOISSUHE A A HI A 169,912 155,662 14,250
s 84,956 77,831 7,125
= 25,487 23,350 2,137
Al 59,469 54,481 4,988
307 212t01™ 169,912 155,662 14,250
= 84,956 77,831 7,125
= 25,487 23,350 2,137
Al 59,469 54,481 4,988
05 SIZtRAEZ 169,912 155,662 14,250
OSHLEL SSeHMetAMAHIA 28 X
A 169,912,000 169,912 155,662 14,250
= 84,956 77,831 7,125
= 25,487 23,350 2,137
Al 59,469 54,481 4,988
(Z)22LH9 AIXF EHIXIA 49,370 42,000 7,370
= 49,370 42,000 7,370
301 et Z 49,370 42,000 7,370
= 49,370 42,000 7,370
01 ASIBEE2HS(2DEZME) 49,370 42,000 7,370
O2ZLHY9 AIXX HAXAL(ZILEEE AE)
2 49,370,000& 49,370 42,000 7,370
= 49,370 42,000 7,370
(D)SHLIF I SSUHE A MEIA (S L0IE) 8,922 0 8,922
I 4,461 0 4,461
= 1,338 0 1,338
Al 3,128 0 3,128
307 212t01™ 8,922 0 8,922
I 4,461 0 4,461
= 1,338 0 1,338
Al 3,128 0 3,123
05 SIZtRAEZ 8,922 0 8,922
OSHLOIHISSOHMOA AU A (SA0IE)
8,922,000& =10 2~ 8,922 0 8,922
I 4,461 0 4,461
= 1,338 1,338
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o /e
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SA BB SR(E) - HRAY - BES Ofl Aot J| & o HimE2
| | Al 3,123 0 3,123
22Y 2GAY 5,851,425 5,116,925 734,500
= 429,565 411,215 18,350
J| 265,817 265,817 0
== 339,253 332,468 6,785
Al 4,816,790 4,107,425 709,365
22 29 2,648,960 1,963,960 685,000
401 AlEHIZL 20| 890,000 805,000 85,000
01 Al&H| 890,000 805,000 85,000
OZ2Y d= =X
AA 80,000,000 *x2I A 160,000 120,000 40,000
OZ2EY d= & & BFoIEEd
2 45,000,000 44 A 180,000 135,000 45,000
402 2IZ2EXHE0I1A 1,350,000 750,000 600,000
01 CIZFRHE A B2 (KERITHE) 1,350,000 750,000 600,000
O32Y U= 400,000,000 %14 A 400,000 0 400,000
OZ2Y BEx(Bxs )
X 5,000,000 %1204 A 600,000 400,000 200,000
()22 L 22| XA 859,129 822,429 36,700
= 429,565 411,215 18,350
== 128,869 123,364 5,505
Al 300,695 287,850 12,845
307 212t01& 859,129 822,429 36,700
= 429,565 411,215 18,350
== 128,869 123,364 5,505
Al 300,695 287,850 12,845
10 ALSIS XA EHE2IHIE X 859, 129 822,429 36,700
OZdgg dugyl 2 kx| X
AA 859,129,000 859, 129 822,429 36,700
= 429,565 411,215 18,350
== 128,869 123,364 5,505
Al 300,695 287,850 12,845
(2)y3zg X2 1,006,500 993,700 12,800
== 100,650 99,370 1,280
Al 905,850 894,330 11,520
307 212t01& 1,006,500 993,700 12,800
< 100,650 99,370 1,280
Al 905,850 894,330 11,520
10 AISIS XA EEHE2IHIE R 1,006,500 993,700 12,800
Od=2Y XI& 23 1,006,500,000 1,006,500 993,700 12,800
< 100,650 99,370 1,280
Al 905,850 894,330 11,520
MIEXIAE XA 10,876,075 10,671,873 204,202
= 101,737 0 101,737




A LoIEOHeI
M LOISX BSE(MIIEX/ 0l - HAH)
&2l A= XIAIE XIR (crol: 221
SA BB SR(E) - HRAY - BES Ofl kot J| & o HimE2
= 51,776 55,412 A3,636
& 3,180,224 3,111,553 68,671
Al 7,514,338 7,484,908 29,430
= 28,000 20,000 8,000
(DLO=RNAE DsB2AM 203,474 0 203,474
= 101,737 0 101,737
== 71,216 0 71,216
Al 30,521 0 30,521
402 QI2EXH=0|H 203,474 0 203,474
= 101,737 0 101,737
& 71,216 0 71,216
Al 30,521 0 30,521
02 QIZENEAMLE R (01X M) 203,474 0 203,474
OQI0NItE =02 HE= SAt
203,474,000 %1 Al 203,474 0 203,474
= 101,737 0 101,737
& 71,216 0 71,216
Al 30,521 0 30,521
(D) UZANE2S XA (HEAIY) 1,075,000 1,067,000 8,000
== 733,000 733,000 0
Al 314,000 314,000 0
= 28,000 20,000 8,000
307 SI2t01 & 1,075,000 1,067,000 8,000
& 733,000 733,000 0
Al 314,000 314,000 0
= 28,000 20,000 8,000
05 BIZtRIEF 1,075,000 1,067,000 8,000
OLZAld 2 X2
23 1,075,000,000< 1,075,000 1,067,000 8,000
& 733,000 733,000 0
Al 314,000 314,000 0
= 28,000 20,000 8,000
(2)EI1QYLIZCCTVRI 57,728 72,160 A14,432
= 28,864 36,080 ANT7,216
= 20,205 25,256 25,051
Al 8,659 10,824 A2,165
402 QI2EXHE01 A 57,728 72,160 A14,432
sy 28,864 36,080 ANT7,216
= 20,205 25,256 25,051
Al 8,659 10,824 A2,165
02 CIZEXI=2 AL B (0| M TS ) 57,728 72,160 A14,432
OFIIQAD|ZCCTVAIZ (2170 4)
4% 57,728,000 57,728 72,160 A14,432
= 28,864 36,080 ANT7,216




A =IOt
M LOISX BSE(MIIEX/ 0l - HAH)
&2l A= XIAIE XIR (CHol: X 2)
SA - BB ORI(E]) - HRAY - B Ofl ko = Hnz2
= 20,205 25,256 Ab,051
Al 8,659 10,824 22,165
()AL | AEDI|AEEX 45,824 38,664 7,160
ay 22,912 19,332 3,580
= 16,038 13,5632 2,506
Al 6,874 5,800 1,074
402 CIZHRHE0|N 45,824 38,664 7,160
ay 22,912 19,332 3,580
< 16,038 13,532 2,506
Al 6,874 5,800 1,074
02 QIZFXIEAIEEX(0I&THS) 45,824 38,664 7,160
ORI |22 |AELEX]
HA 45,824,000 45,824 38,664 7,160
ay 22,912 19,332 3,580
< 16,038 13,532 2,506
Al 6,874 5,800 1,074
ol SXSE (AL SX/FAHSKIH) 35,787,910 34,802,599 985,311
= 19,476,191 18,830,710 645,481
== 4,207,150 4,107,046 100, 104
Al 10,747,329 10,507,603 239,726
= 1,357,240 1,357,240 0
ZoHel =SXSH 35,787,910 34,802,599 985,311
= 19,476,191 18,830,710 645,481
< 4,207,150 4,107,046 100, 104
Al 10,747,329 10,507,603 239,726
= 1,357,240 1,357,240 0
(=)oY tSESSAHIAXA 112,203 160,290 A48,087
= 78,542 112,203 A33,661
< 10,098 14,426 A4,328
Al 23,563 33,661 A10,098
307 212t01™ 112,203 160,290 48,087
= 78,542 112,203 A33,661
< 10,098 14,426 A4,328
Al 23,563 33,661 A10,098
05 BIZtRIEZ 112,203 160,290 48,087
OFEAE LTS Hn=as AHHIAXIR
ZA 112,203,000 112,203 160,290 A48,087
= 78,542 112,203 A33,661
< 10,098 14,426 A4,328
Al 23,563 33,661 A10,098
(SIAZEOHCDIEXHEHSY 170,000 160,000 10,000
= 34,000 32,000 2,000
Al 136,000 128,000 8,000
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X ZH
S

L OIEOHOI Dt

Zolo! =XISA(ABI=XI/FAHET L)
Dol =XS

SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST
307 212t01 & 170,000 160,000 10,000
= 34,000 32,000 2,000
Al 136,000 128,000 8,000
10 AFRISXAEHE2IHIES 170,000 160,000 10,000
OZHOHIIEXAHEH 22
23X 170,000,000 170,000 160,000 10,000
= 34,000 32,000 2,000
Al 136,000 128,000 8,000
()HRAANAE JsE2L 10,560 0 10,560
= 5,280 0 5,280
= 1,584 0 1,584
Al 3,696 0 3,696
402 QIZERHE0| A 10,560 0 10,560
= 5,280 0 5,280
= 1,584 0 1,584
Al 3,696 0 3,696
02 CIZEXI=2 AL B (0| M THS) 10,560 0 10,560
OEMRAANL JISEZ
10,560, 00021%14] 10,560 0 10,560
= 5,280 0 5,280
= 1,584 0 1,584
Al 3,696 0 3,696
()ZOUAFAIE 2 X 8,091,217 7,134,886 956,331
= 5,663,852 4,994,420 669,432
= 728,209 642,140 86,069
Al 1,699, 156 1,498,326 200,830
307 212t01& 8,091,217 7,134,886 956,331
= 5,663,852 4,994,420 669,432
= 728,209 642,140 86,069
Al 1,699, 156 1,498,326 200,830
10 ALSIS XA EHE2IHIE X 8,091,217 7,134,886 956,331
OZOHL! HFAE 2
AR 8,091,217,000& 8,091,217 7,134,886 956,331
= 5,663,852 4,994,420 669,432
= 728,209 642,140 86,069
Al 1,699, 156 1,498,326 200,830
() HOHQUHFAIZEI AR KIS MEH I X2 0 10,000 210,000
= 0 3,000 A3,000
Al 0 7,000 A7,000
301 et Z 0 10,000 210,000
= 0 3,000 23,000
Al 0 7,000 A7,000
03 AlSIEE X262 (KIS THSA) 0 10,000 210,000




SA: el EHel ot
A ZOHR! SXISE(AEISXI/FAAHNSKIH)

el Zojel SXSH CEEEN
SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST
OFHOHUHFAIA EIAX XESME H=Z2
2A 0 0 10,000 A10,000
== 0 3,000 A3,000
Al 0 7,000 A7,000
() ZOHITHIOIE X SAMIH S S XA 137,778 133,333 4,445
< 20,667 20,000 667
Al 17,111 113,333 3,778
307 212t01™ 137,778 133,333 4,445
== 20,667 20,000 667
Al 17,111 113,333 3,778
10 ALSIZ XA EEHE2IHIE X 137,778 133,333 4,445
OIS XIS AHHEH 29
AA™ 137,778,000 137,778 133,333 4,445
== 20,667 20,000 667
Al 17,111 113,333 3,778
(Z)=HEQUEH2Z 240,774 236,573 4,201
< 40,932 40,218 714
Al 199,842 196,355 3,487
307 212t01™ 240,774 236,573 4,201
< 40,932 40,218 714
Al 199,842 196,355 3,487
10 AFRISXIAIEEHE2AHIEX 240,774 236,573 4,201
O=HSIHH 29
AA 240,774,000 240,774 236,573 4,201
== 40,932 40,218 714
Al 199,842 196,355 3,487
(Z)EROUIIHFAIEEY 414,065 400,060 14,005
< 82,813 80,012 2,801
Al 331,252 320,048 11,204
307 212t01™ 414,065 400,060 14,005
< 82,813 80,012 2,801
Al 331,252 320,048 11,204
10 AFRISXIAIEEHE2AHIEX 414,085 400,060 14,005
OOl | A=A 293
AA 414,065,000 414,065 400,060 14,005
= 82,813 80,012 2,801
Al 331,252 320,048 11,204
() ZONQIEHOIA| S A EH M =T A 70,900 35,904 34,99
< 21,270 10,774 10,49
Al 49,630 25,130 24,500
307 212t01™ 70,900 35,904 34,996
< 21,270 10,774 10,49
Al 49,630 25,130 24,500
11 AMEISXAMSEEE 70,900 35,904 34,996
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L OIE OOt
0N SXSE(AEISKI/HUHEXH)

el Zojel SXSH CEEEN
2A - ZH () - MRAIY - HAS Of] &K J &3 o Hws2
O2023Z 0 QIEH | A| D A Ef M == A}
Z& 70,900,000 70,900 35,904 34,99
== 21,270 10,774 10,496
Al 49,630 25,130 24,500
(2)ZOHRUFUBSAIE JIsELY 8,860 0 8,860
= 4,430 0 4,430
== 3,101 0 3,101
Al 1,329 0 1,329
402 DIZEXHE01A 8,860 0 8,860
= 4,430 0 4,430
== 3,101 0 3,101
Al 1,329 0 1,329
02 CIZEXI=2 AL B (0| M THS) 8,860 0 8,860
OFHRUF2HES AL JIsEZ XA
8,860,000 *14! 8,860 0 8,860
= 4,430 0 4,430
== 3,101 0 3,101
Al 1,329 0 1,329
HRES( oI Z0HI) (ASISXI/ I =MEEE) 3,211,435 4,558 3,206,877
SEXE 3,211,435 4,558 3,206,877
SEXNE 3,211,435 4,558 3,206,877
802 Btat=DIEt 3,211,435 4,558 3,206,877
01 = 0EX3ee3 2,587,408 4,530 2,582,878
020223 & 2,566,806 0 2,566,806
=J|x=HZ2 K& 277,332, 1302+ 14! 277,333 0 277,333
—3DZ2LH9 AIZA+ gl X
6,5002%14] 7 0 7
—G=Al SFEE 2AY
1,802, 161,000 % 14! 1,802, 161 0 1,802, 161
—ZZ=Al SHEE AI(0IX)
1,802, 160 *1A! 1,803 0 1,803
—2IHE O] NI & AE JIs2Z(0IA)
11,5402 %14l 12 0 12
—SHLIEfeISSHMOAMAEIA 2 XA
30,600,22021%14! 30,601 0 30,601
—SHLIEfeISES MO AEIA 2 XA
(OIXH) 894,950 * 14 895 0 895
— OIS ESAUIAAIY K&
121,612,600 %1 A! 121,613 0 121,613
—LOINEESAHIAAY XIK(0IXH)
6,903,530& * 14! 6,904 0 6,904
—olxiel L AISIESXIEAAIY
11,303,010 % 14! 11,304 0 11,304
—LoldTte]l & AISIESKIJAAIZ (01X
5,550,400 %1 Al 5,551 0 5,551




2A:
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e

(LLQIEONQID) (ALBISXI /D | =2 H)

SH - BB CR(E) - HIRAY - BES Ofl b Jl 3 o Hns2
—Z2E HHEH| & 23 X2IAS
1,339,970 *14 1,340 0 1,340
—d2Y Wity 2 22 XJAL (01X}
50,8502 %14 51 0 51
—ZfelAS=SHAI=
100,743,050 % 1Al 100,744 100,744
—Zo===0lx) X2 954,000 & *14! 954 954
—Zo=E(Xae S) XS
14,089,000 14! 14,089 0 14,089
—ZOHOIAFAIE S2U4E
24,247 000+ 1Al 24,247 0 24,247
—ZHOHRIAFAIE 29 X
73,712,230 %1 Al 73,713 0 73,713
—ARAAE 2AHIXA
93,255,520 %14l 93,256 0 93,256
—SAQAAIE SHHIXIA(OIRL)
227,950 14l 228 0 228
O20219 & 20,602 4,530 16,072
—EZHC! SLHIZXIA
2,800,000 14! 2,800 0 2,800
—JRUQAAE 2HHIXA
13,228,00021%14] 13,228 0 13,228
—SAQAAIE SHHIXIA(OIRL)
43,5002%14] 44 0 44
02 Al - EHIExZ8te2 624,027 28 623,999
02022 &= 603,939 603,939
=Jlxzd32 XA 6,162,740 * 1Al 6,163 6,163
—G=Al SFEE A
386,034,500 % 1Al 386,035 0 386,035
—GZ=Al SHEE 2AI(0IX)
386,030&*14! 387 0 387
—2IHE O] NI & AE JIs2Z(0IA)
1,5202%14 2 0 2
—olxiel L AISIESAIEAAIY
3,300,900 214! 3,391 0 3,391
—SolgdRiel & AtSIESKI2IAF (01X
1,665, 130&*14] 1,666 0 1,666
—SHLITfeIS SN AHIA 2 X
9,179,700 %14l 9,180 0 9,180
—SHLIEfeISSHMOAMAEIA 2 XA
(OIX}) 268,250 x 14 269 0 269
—ROJEHLOl HASSUY & 2 E2II(0IXH)
900+ 14 1 0 1
—HSSEMASTHIL-CIAANE
1,568,890& * 14! 1,569 0 1,569
—HSSHEMASTHIH=OIAAHE (01 A})
1,280 * 14 2 2
—FZ2AG g4 4,262,330+ 14 4,263 4,263
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(=Sak

= OIEHOHOI D}
PSS (- OIF ORI T (AIEI =X DI EME R H)
SHIE

SA B SR(E) - HRAY - A2 Ofl kot Il H o C[ImE=ST}
—J2ag 2232/(0/K
1,65021%14! 2 2
—Z=HH=F2Y X AA (0IRH)
15,7302% 14! 16 16
—ZEY | @ AR A
401,99021%14] 402 402
—Z2Y e ¥ ABXIYARI(0IXH)
16,4602 %1 4! 17 17
—CQIESEAHIAAY X
15,637, 8402 % 14! 15,638 15,638
—COIREESMEIAAIY IR (OIX})
887,100& * 14! 8838 888
—A2Y2AAAY
2,267,340 %14] 2,268 2,268
—B2YS AT A (OIRH)
15,43020% 14! 16 16
—ANZZEYNE DS (0IR)
510914l 1 1
—FEY I|ISELAY
1,147 ,00021% 14! 1,147 1,147
— B Q15| B A= E A2 XIS & A 31X 2 (0 XH)
1208114 1 1
— QSN BAKSEX
751, 150841 4] 752 752
—0InAl 29 1,480,29021% 14! 1,481 1,481
—Lolmal 29(0IX) 3,53024+1 4! 4 4
—AIQU) |2 SBAX S0HIE N
30,206,000 14! 30,207 30,207
—TWIH=QISTIAIE 2 (01X
3202*14! 1 1
—AZAL 2N
53,781,980 %1 4! 53,782 53,782
—AZ2Al" SYXIA(0IR)
265,40021%14] 266 266
— XI X 20§ QI = X| X 2 AF (OI RH)
1,37021% 14! 2 2
— B RHOH QI KHEE X 2 AF (01 XH)
77021%14] 1 1
— XI X Z$0H Q1 OF &9 K K| & ALY
4,10024%14] 5 5
— XI X 0§ Q1 OF A4 KHE X 2 AFE (OI RH)
1,86021% 14! 2 2
—DEA D0 A ALY
1,800,73021% 14! 1,801 1,801
—DEALDOI LA AR (OIX)
520814l 1 1
—ZOHQI AU K| R AL 20,0002 % 14! 20 20
— 0§ QIR X 2L AF (OIRH)

1903 14]
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PSS (- OIF ORI T (AIEI =X DI EME R H)
SHIE

2AM -3 . S2(3H) - MRAEY - BES Ofl Akt J| X o Hw=2
— A HIZHOHOIRHEHATEE AP (O RF)
2102%1 4l 1 1
— | HEHEOHQIDIE X AF (01K
1,500 %14l 2 2
—ZOQI A BSHRII AL (01 KL
2,200 %14l 3 3
—ZofeloldpgrE2 UK
888, 1402414l 839 839
—ZOHQICIE L2 4 K (Ol
240R%14] 1 1
—XIEEOHOI XK HIEI 2SS (01K
490 *14] 1 1
— AEEOHQIEBHALEE AL (O KH)
1,340& %14 2 2
—ZOHQIB O Al A X 2IME 2L (0IAH)
2,930 14! 3 3
—XONCIDIEXHE 2
14021 14] 1 1
—ZHOHQIDIEXIKMIE 2 (0IX})
2,5302%14! 3 3
—ZOHITHE AL 797,000 %14l 797 797
— XHOHQITHE AFRI(OIXF) D 050%Ix 1Al 3 3
—HIAZSHZ
12,953, 4102414l 12,954 12,954
— S (IIE) X2
4,567,0002 %14l 4,567 4,567
—FOEH(RHAR S) X2
1,811,900 %14l 1,812 1,812
IS
6,514, 3402414l 6,515 6,515
— RIS E XX (01X
117,050 %1 Al 118 118
—ZOCIAZAIE 29 XY
9,477 60024 14! 9,478 9,478
—HOHQIHEAIE 2 XI(O0IXH
37,6002 %1 Al 38 38
—ZONQIHZAIE UL
3,117,000 14l 3,117 3,117
—ZONQIH=AIE BSUSSH(OIXH)
1,030 %14 2 2
—FOQIED | HFA L2
2,979,000 14l 2,979 2,979
—ZOHQIE D | HZ=AIE 2SS (0IRH)
4,550 %1 Al 5 5
—RONQIHZ=AIAAEIA R
307,000 14! 307 307

—ZOHRIA=AIE MHIA KIR(0]
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2002414l
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